
Read Ch. 6 sections 6.1-6.4 and Ch. 7. 
Do problems 6.1, 6.7, 6.23, 6.27 and 7.15, 7.17, 7.19, 7.23 + Lecture notes questions
6.1

a) (Z<1.57)=0.9418

b) (Z>1.84)=1-.9671
     =0.0328

c). P (1.57 < Z < 1.84)= 9671-.9418= .0253

d) P (Z < 1.57) + P(Z > 1.84=.9418 + .0329 = .9747

6.7

a) (Z<35.00)= .00094

b) (Z>60.00)=30.15

c) P (Z < 40.00) = P (Z > 50.00) =5.95

d) Z-2.326=A-65.16/10=0 88.42

6.23

a) 7-5 /10 = .2

b) 3-2 /10 = .1

c) 10/2 = 5

d)  = SQRT (10-0)^2 / 12 = 2.89

6.27

a) 70-64 / 74-64 = .6

b)  (70-65) / (74 – 64) = .5

c) 74-65 / 74-64 = .9

d) 64+74 / 2 = 69   SD = squared root (74-64)^2 / 12 = 2.8868

7.15


a) P (X<95)= P (Z<-2.50)=.0062

b) .1056 - .0062 = .0094

c) 1 - .8643 = .1357

d) P(X>A)=P(Z>-.39)=.65 

7.17

a) The sampling distribution would include the distribution of means from the 25 vouchers 

b) The sampling distribution for 2009 would include the distribution of means from the 25 possible absentee records

c) The distribution of means from all of the sales (25) could possibly occur

7.19

a) The sample is 16 and normally distributed

b) P (X<1.28)=P (Z<-2.00)= .0228

c) .9986 - .8413 = .157

d) P (A < X < B) = P ( -0.84 < Z < 0.84) = 0.60




Lower bound: X= 1.30 – 0.84(0.01) = 1.2916




Upper bound: X= 1.30 + 0.84(0.01) = 1.3084

7.23

a) 48/64 = .75 

b) SQRT  .70 (.3) / 64 = .057

Lecture notes Questions:

There are many cases in which we may be able to apply the uniform distribution. Suppose that the research department of a steel factory believes that one of the company's rolling machines is producing sheets of steel of different thickness. The thickness is a uniform random variable with values between 150 and 200 millimeters. Any sheets less than 160 millimeters thick must be scrapped because they are unacceptable to the buyers. What is the mean and the standard deviation of the X (the thickness of the sheet produced by this machine), and the fraction of steel sheet produced by this machine that have to be scrapped?

M = 150 + 200/2 mm = 175 mm

SD = 200 – 150/SQRT 12mm = 14.43 mm

P(x < 160) = 160 – 150 / 200-150 = 10 / 50 = .2

